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1. (a) What -do you understand by E-Commerce? How

does it differ from E-Business? PR (8)

3‘ ma amwaw%%?‘qgﬁ ﬁmﬁa%ﬁmw
ﬁr#%’r"f“

: (b) leferentlate between B2B and BZC E-Commerce

Models. Lo
- (7)

'
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OR

et

"Explain B2C E-business model. What are the
advantages of B2C model? What are the challenges
that e-businesses face in implementing B2C initiative?

(15)

B2C %-faw9 diea & @wemee) B2C viEd & ol e
#F? B2C 9sd 91 @R & A $-Rgew w1 R TR @

“amm,mqgar%?'

2. (a) Differentiate between Intranet, Internet and

Extranet. | (9)

we, weeie o pEpT ¥ a e

antages of

(6)
P.T.0.

(b) What are the advantages and disadv

using internet?
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OR

(a) Explain in brief the life cycle approach of building

a website. (8)

maqﬁ%@a?wgﬁ!ﬁwﬁﬁ@mfr’mn

(b) What are ‘the issues to be considered to decide

whether to design website in house or to outsource
it?

(7)



OR

.. (a) What are the main objectives,of encryption in E-

- Commerce? ' (6)

£l ¥ oRwEE @ eI FRE T LT

(b) What are e-commerce applications?‘ Explain any

two ‘applicat'ions in detail. . : (9)

¢t ey #1 frl 3 A 1 e
'-%ml | | |
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4. What is a payment gateway? How does it work? What

are its advantages and limitations? (15)
Te A A 87 U5 DA HW el 87 W%WW% Sﬁ?

Q27

OR

(a) Differentiate between debit cardsA‘ and Credit

.Cairds‘. R : S bk | “'(8)

(b) What a'r'e the‘vario'u's risks iﬁvolved in electronic

¥ payment system.

(7)

I I R W By i ey 37
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i Wri’te short noteg on: (Any 3)
(a? Cyber Vandaiism
(b) Cyber Ter-rorism.’ |
(©) Firewail
| (d) Spoofing :
(e)A.Object-ives of IT Act, 2000. | | - : _‘(5><3=15)
R w Wl et fif: (1 )
| (%) W e
) e o

'.’
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(i) Explain the steps involved in planning process id
Cntiﬁed ab
a00ve,
(6)

« nn “E Il]l)'e‘-
“iSS

(4)

Huqr



278

000 after ©

(a) What amount : t Rs. 3.0
'. i vould Mr Goswami need to invest in order t° & ed fund

e A a balanc
years? He is a moderate risk taker and likes his investment to be made 10

. 'dc’
. ative S1
where the re . the consery
turn can be estimated at 12% per annum tO be on

. s : . . 0 r annum
Which option should he prefer out of the following, if the rate of interest IS 8% pe€

and compounding is done annually?

{i) Rs. .1,(.)0,000,today

(i) Rs. 1,40,000 two years later

(iii) Rs. 1,60,000 three years later. ’ (19}

6 9 9IS 5,00,000@%%%%?9&1%@@3%%@%@%3&
aﬁmaﬁﬁagwwshﬁaﬁaﬁmaﬁﬁ%aﬂtaﬁﬁamaﬁwﬁgﬁm
qﬁﬁmqﬁam%,mqﬁmﬂu%uﬁaﬁa@rﬁaam%l

R = @ W gy, afy af 2 3 THgfE INE T A A I I, A I Tr=fakaa

(i) 1,00,000 T I

(ii) 1,40,000 A & |

el
(iii) 1,60,000 T A W

P.T.0.
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oncept of digital wallet. List any five online platforms of digital wallets
in the € .
plain t

b) Ex
( )

@ ¥ '

it1 ‘4
r—— ing two securities X and Y. The expected returns and standard
(a) Ms. Navita 1s eV aluating

deviation of the returns of these securities are:

Securities Expected Return Standard Deviation
X 10% 13%
b4 19% 22%

Degree of Correlation is 0.

Find out the expected returns and standard deviation of the following portfolios:
(i) 100% of X.
(i) 75% of X and 25% of Y.
(iii) 50% of each X and y.

i 9)
(IV) 100% Of Y. (
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X 10% Ll 13%
= 19% 22%
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PR NERRA @ RRE Red R WAw e & S
(i) T w1 100%!

(i) X @1 75% I Y & 25%!

i) ¥Ew X Y H 0%

(@{iv) Y &I 100%

ionship”. In the light of th e TR
(b) “Risk and return have trade-off relationship g e statement explain the

i i investment decisions. '
impacts of trade-off relationship on the inv Sons 2
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OR

Jterar

'(3):(‘3!::!13‘5 required rate of return on shares A, B, C, and D on the basis of following

information:

Risk free rate of return 7%

Market rate of return 13%

Beta value of four shares A, B, C and D are 2.5, 1.5, -0.4 and 0.7 respectively.

(7.5)

frfafad AEEd & UK W 3G T, @, @ 3R 9 W Red &t miftm |/ &t W
K

() R = Afew g09 w 1%
(“) ﬁfﬁﬁmﬁm%
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y duc to factors which ar¢

(b) “The risk represents the fluctuations in the returns of 4 geeurit
v I light of the 81Vl

specific to the particular firm and not to the market a3 @ whole.
factors causing such risk.

statement identify the type of risk and also cxplain som¢ key
(7.5)

P i & fre faftre ¥ ol R Am @ g A T T
%maﬁwaﬁmaﬂzﬁﬁ@rﬁwéwmmﬁﬁ |

3. (@) Mr Ais having his income under the head business & profession. His annual income is

15 lakh. He wants to diversify his business, whereby, he would be generating agricultural

income of 4 lakh annually. He has two choices: either to continue as sole proprietary

concern or set up a partnership firm by taking family members as partners. Show the tax

ble form of business organization on the basis of his

()

calculations and suggest the suita

computed tax liability -

mﬁmﬂﬁaﬁ?sﬁﬁﬁ%ﬂﬁélmmmwm%uﬁmﬁ

fae 7 &
wﬁﬁﬁwmm%,mﬁﬁm4mwaﬁ§ﬁmaﬁhm
ﬁlﬂ%waﬁmﬁ;mﬁmﬁﬁﬁaaﬂmﬁmﬁmmmm

& e @ iR @ w9 A T W T WM T A I

mmmwm%mﬂwmﬁmmww%

(b) “Tax Avoidance is 2 legal way to limit taxes; Tax Evasion is not”. Do you agree with
wit

the given statement? Justify your answer. :
| )
P.T.O.
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(a) Mr. X (31 years) has been offered an employment on monthly salary of Rs. 90,000 & ;s

tax liability is calculated as under:
Salary: (90,000%12) = 10,380,000
Less: Standard deduction = 50,000

Net Income: =10,30,000

Tax on Net Income: =1,26,360

Is it possib ;
p le to reduce tax liability? Draft his remuneration structure. ®)

e
W’(313“7)3590,000‘Glﬁa‘?mfiia:%a#qtﬁsnmaﬁfiﬂﬁﬂagbf’ﬁ%aﬁz

BLCINE TS
mﬁmﬁwﬁﬂﬂ‘aﬁmﬁ?’:
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9T (90,000%12) = 10,80,000
Ly ¥€‘s§ Rs=sw = 50,000
g€ I = 10,30,000

A @ W dqw = 1,;;,360

T A IR T A W 27 I el € T daw R

(b) When an act of a person is condemned as Tax Evasion. Explain with suitable example.

(6)

Frf ofie @ 3@ A W A & W A Fa =8 ft 9@ 31 Swmew Jemer I

GHARY

4.  What is protection policy? Why does an individual need a protection policy? Explain the

factors determining the amount of protection policy? What is the tax benefit of buying

insurance? (15)

e Sy g 27 e ot @ ae AT A IS R weww W wh
mﬁmﬁmﬁaﬁmaﬁ?ﬁmaﬂﬁwwmmg?

P.T.O.
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OR

Iterar

Exolain different types of insurance on the basis of risk? What type of risk is taken care
(a) Explal

o - X
of by buying a life insurance policy? Explain. )

SR @ FUR W RARE TSR F AW R e wifee? e den uiRe 't wn
R TER D SiGW @ A W@l W 87 SRl Shifeigl

(b) Explain different types of life insurance policies in India? (6)

WRa # I yeR @t Siae SR Ol @ e i

3. (2) Chalk out a retirement plan for Mr S, 30 year old, a salaried employee who hopes to retire

by 55. Consider the inflation rate to be 8%, monthly expenses to be 40,000 pm & another

Rs. 40,000 annual expenses. Assume all these expenses will persist until retirement.

(10)

0N D Ry v dighy A A AR, G @ e w6 2

.
Sﬁmﬁhﬁﬁﬁﬁﬁam%lmaﬁa 8%, it @ 40,000

N A :
aﬂtmmﬁa‘"ﬁ"f 40,000 TR W RER X W9 e ¥ W T KO
W R
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(5)

(b) Write a short note on Reverse mortgage

el WS W v W A o
OR

3reqdr

(a) Mr X is aged 48 yrs. He is married & currently working with MNC as a senior manager

in Ahmedabad. His wife is the only member in his family dependent on him. He wants

to retire at the age of 60 years & has a family history of longevity over 80 yrs.

His retirement needs per month as per today’s basic & utility expenses are 60,000 plus
travelling expenses 15000. Total comes to 75000 pm. Calculate how much fund will he

be requiring considering inflation rate to be 8%. Advise him a suitable retirement plan.

(10)

frer Taa o 99 48 @ B A TACA T IR T A TR [ A SEREER
¥ v aftes weaw & € A FH BT @ Bl I IRAR N I oo & ST w ok
3 a5 60 a§ @ wg ¥ JaAFTH T T ¥ IR I g0 ¥ v sy W

qRaRe sfaeE 2l
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(b) Explain New Pensi¢d Scheme.
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(2000).
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2. Tt v #0\Rw
3 i WAl @ Wi s R
4. WEHESW 5 () 3Rk (7) sfyamd ? |

5. W - W SN A R R e v 3 Sre, A
T I e v & Ay |

. (a) “Liberalization and Globalization have significantly
influenced on the scope andfunctions of humﬁn

_ reésource management through restructuring of
business firms”. Discuss briefly on this statement.

()

Py

(b) What 1s thuman resource policy document?
Critically examine the current scenario of

humanresource policies in India. (7
(OR)

(c) “Forecasting the demand for talent is basically
influenced by External, Organizational and

Workforce factors’”. Cémment on this statement.

()
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(d) Who is ' HR Manager? State the competencies

required of HR manager to perform his functions

successfully.. ‘ | (7

2. (a) “Training is an effective tool of 'management”. =

Discus.s. Fn, ®)

(b) What do you mean by employee retentmn" Suggest
various measures for the retentlon of talented .

employees in the organization. (7)
(OR)

(c) Define recruitment. Explain the various

'al_ternatives to recruitment? @)
(d) Why is management development necessary in the |

9 ! . :
present era! Dlscpss. - | (7).

3. '(a) Why is “Management By Ob_]CCthCS cons1dered

~a better method of performance evaluation? What .

‘?
are its 11m1tat1onsi . e (8)

PT.O.
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(X3 A A \ . 4 .
(b) “The neced for cmployee counseling arises due to

problems "of conflict, frustration and stress”

Elaborate. f (7)

(OR)

(¢) “Fringe benefits, have become a significant
component of employee compensation in the

. modern busmess orgamza‘uon” Brlefly discuss this

statement o E | (8)

(d) Why do employee grievances ,_afi'se? Suggest
suitable 'steps‘to handle grievances su'ccesSfully.

(7)

' : : . 1} ‘
4. (a) “The concept of ‘social security’ is essentially

related to the hlgh ideals of human dignity
and social Jus_tlce Comment on thls statement
-and also. discuss the scope of social
'sec-urity in India. - | '(8)

7

(b) Differentiate bctwcen transfer and promotion? Is

transfer o tm)l 0( punishment? Justify in your
(7) .

answer.
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(OR)

(c) What is Green HRM? Why is it important in the

present context? | | (8)

| (d) What is meant by employee empowerment? Explain

its implication for better management of HR.

{(7) |
5‘. .(g) Write shorfc pate on ét;y twb,of t’he f;ollb\&'ing '
| (i) ‘HR'Avl.xdit'\ |
(ii) Ethicf in HRM
| (iii) '_,Job 'a‘nalysis; “
(iv) _Plgceﬁ'lént and .Indqction (2x4=8)

~ (b) Case -Study. |

- Bharat Sanchar ngam Limited (BSNL) is a Public

Sector Undertakmg (PSU) service compqny lt is

one of the 1argest telecommumcdtton service

P.T.O.
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6
providers for mobile, broadband and other related

services and this company was a monopoly during

‘the initial period of its establishment. However,

the company is facing a very stiff competition in
the recent years with several private players due
to Liberalizatiqn, Privatization and Glbbaliza_tion.
A large prOpO'I;tiO'Il of its employees are linesmen,
the face of the company to.the customers. They

were, nelther technology savvy nor customer

.frlendly The managers and technlcal experts were

| constantly poached 'by the private sector. Also,

the experienced staff of the company was leaving

the company for better career prospects. Rapid

" technological advancement is a constant threat to

employees becoming obsolete. The company also

wants-td move away from the PSUculture to more
professional corporate culture.

Answer the following questions from the above

/

case study :



279 o T
(i) Identify how the company can address the

problems faced by it with the help of

Training and Management Development.

(ii) Provide a step-by-step approach for the
company in identifying, designir;g and
imbléménting suitable training programs
needed at y_arious levels of its employeesv

- \yhich :woul'd enab-le' the c,ompan'y‘ for its

s vrevi'val t'c')l som‘g extent. | (2x3.5=7) -

1 (3 “Wﬁ%jﬁm%wﬁm'sﬂz
Ll qzﬂzaqj'mm%”réq FAT W & { T

aﬂﬁm - (8)
@) W%mﬁﬁw%?mﬁww

ﬁﬁﬁr%aﬁﬂﬁqﬁgﬂaﬁm@ﬂﬂmﬁa—ﬂm
AR | | (7)

3

(=)
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() “TIANT I AT G A T A AEY, WS

@
@)
@

R T B ¥ ywRE B 271 T R W
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AT WA TGS HT 37 SO FET H AhAE

'aﬂﬁa}mvwkmmiﬁmmﬁ

R (7)

“SRIEW WEET W T TR ST 271
w0 (8
T SR ¥ S w e 27 R
Eﬁmﬁ&raﬁwﬁwmﬁ%fmﬁﬁ?m
e e B o N (7)

@)

i @ R AR vl @ R R @

oren SRR? | (8)
a—efqmgﬂ?ruaaaﬁmmaﬁt mm%.??ﬂfaﬁm'

(7).
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TreEedE Ao @ g Suges wew el
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e
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(H)%H‘E'éﬁ-»
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FR TR T FROT A D T F HE Aol waea

| %_mﬁﬁgﬁwﬁmmmqgm%n?&%'
 teRA T T e R R 2, Y WE @ e
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it e R A S @ R w9
R W AR AR W R F e
,'aﬁfﬂwﬁmﬁaﬂ%nmﬁwwﬁ
».mmmmmaﬁaﬁtﬁm_

P.T.O.
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Y @ 2

(i) w0 @ wHaRd B A w W A
SugeR wRE FEEA @ TEaH, BT dk
T ¥ T D Ry T - R
g&ﬁwmaﬁﬁ{qﬁfﬁﬁﬁ qge‘p‘e!?:’dq:'
T JTeER & o " wam

(2x3.5=7)

(11000)



OV

[This question paper contains 4 printed pages 1

L @ e
Your Roll No..%..'. -------
Sr. No. of Quesfion Papér s 280 ' ‘ C

- Unique Paper Code - 2241 1303

.Name._ of the Paper Management Pr1n01ples and

’ Applications
Name of the Course _ : .B.Com- (Hons). CBCS
Semester S RS § 8 O )
"Duration : 3 I—onu"’s ) > " Maximum Marks : 75

Instructionvs. for Candidates

1. . Write yciur' Roll No. on"the top 1mmed1ately on rece1pt,
"~ of this question paper. : -
_DRF ‘Atte.rnpt all questio’nAs. All questions:carry equal marks.
c A'nswers' may be written either in English or Hindi;
‘ but the same medium should be'used throughout the
er.’ ’
pap - = Sy m:mu cg}%lf;gn- Lisrary,

=it fag g T

1 '3?1;['5""!'-— %ﬁaﬁawmmﬁﬁﬁawwm

m%ﬁa‘?I
2. aﬂm%lﬁm%wwa'

3. Wm—nra-cm—si‘-ﬁ sidren ar B@ Ia;élqan*wcu-& Sifwe, SfrT



280 2

9

.- Discuss the contributions of Human Relations and

Behavioural Science approach of Management to the
development of Managerial Thoughts.

OR
Why is coordination considered as the essence of
management? Discuss the principles of coordination.
Discuss various techniques for individual and group
decision making. ' . ‘ .

OR

4

Describe various elements of Business Environment.

Explain SWOT techniqué for énvirOnme'ntal analysis,
with suitable example. | '

What are the different organisational forms éuggested j
by Mintzberg? Discuss their suitability in different
situations. | o

OR

(a) Explain Network, Organization structure with the

help of a suitable example,

(b) Explain the barriers and difficulties in effective
delegation of authority? How can the or
remove these barriers?

S

ganization

Compare Transformational leadership

leade%'shlp, Which style is Suitable for pys;
organizations in India, usiness

and Transactional
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OR

Defme controlling. Explain the process of controlling.
Discuss the lel'ltlonshlp between pl

anning, organizing,
direction and controlling,

Explain the factors which reshape and redesign the
management purpose‘?
OR
erte short notes on any three
(1) Dlgltallzatlon

(1) Entrepreneurshlp and Innovatmn
(ii1) \(alues and’ Ethics

. -(iv) Werkforce Diversity |

1_.'mmaqﬁaﬁ%ﬁ$m%ﬁmw%wmﬁraﬂt
'MW%W%WWWWI |

a A
Waﬁwmmwa@rmm%? wraa & e
-qa’iaaﬁm | |

A |

" ——
'WW%W“@
R & R sw0T'v1fﬁ"’i‘7’ﬁ PR
wwE ~ PT.O.
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. f the following 6 qucstions:
stions out 0
quest!

1. Attempt any threc

s Ycear and AsSCS

amediately succeeding Asscssment Year?
1

(1) pefinc Previou

taxable in the i

)X left India for the
he comes to India 0
and compute his Tota

following information:

gment Year. When is the income of Previous y
S
car n
ot

first time on 18th August, 2020. During the Previous Year 2020
<21
n 2nd October, 2021 for 196 days. Determine his RcSidenﬁa] G ,
. tatUS

| Income for the Assessment Year 2022-23 on the basis of
SIS 0T the

Income ﬁ
Rs.
1. | Interest from the Governmengﬂgf,'l‘gdia, received in London 5,00,000
2. | Royalty from Indian Resident for a proj i 00,
. project of an Indian 6,00,000
company situated in London |
3. | Dividends from an Indian Company
50,000
4. | Gifts from friends in foreign currency, received in London 24,00
,000
s |1 ceived i
ncome earned and received in London in 2019-20, remitted 6,00,000
to India in 2021-22
6. | Interest earned in India but i i
received in London 60,000

(3) From the following ;
owing informati
mation, compute Total Income of X and loss to e carried forward

for the Asessment Year 2022-23-

Income

—_—

Rs.

Salary (after Standard deductio )
n

24,00,000

\

2,00,000
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—

House Property 1 (let-out)

House Property 11 (sclf-occupied) 4,00,000

(-} 6.50,000

(4) Explain the provisions of clubbing under section 64(1A) in respect of Income of a Minor

child.

From the following details, compute the income of X, Mrs. X and A (their minor child):

Income X (Rs.) Mrs. X (Rs.) A (Rs.)
Salary (after Standard deduction) 18,00,000 -- --
Other Sources -‘- 18,50,000 ——-
Income from acting ' 50.000
Gift f£0111 friends : 1.200
Gift from relatives ' 30.000

(5) X (62 years) has the following incomes during the Previous Year 2021-22. Compute his

Total Income for the Assessment Year 2022-23:

Income Rs.
. House property (compulcd) 7,20,000
Post Office Savings Bank Interest 4.000

P.T.O.
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\
60,000

\
1,20,000

]
F purchase of NSCs (VIII Issue) A ' 40,000
\

a Benoy Kumar Sahas Roy describing the principles that serve

ts with Bank

Interest on Depost

Deposits with PPF 4
o

(6) Explain the case of. Raj
as a guide in determining the scope of the terms “agriculture” and “agricultural .

From the following details, compute taxable income of X:

Income Rs.
Sale of Tea 20,00,000
Expenses on growing tea leaves and manufacturing tca leaves | 12,00,000

ﬁmﬁﬁaaa:wﬁ#%ﬁrﬁeﬂ?wﬁ%mﬁmmaﬁﬁm

(1) ﬁaﬁa&aﬁr‘m(@mﬁ)aﬁmﬁaaﬁmlﬁ@éaﬁﬁmmmm
T-FuiRn af ¥ o dmg owF e 20

(2) vr@ I 18 swrm, 2020 m‘rqafv?raﬁﬂnaa‘ml ﬁa&a& 2020-21 & oM, T 2
TRT 2020 F 96 B R B o wmwm an PefiRe wmed @ s @

%0

4 ) : 5,00,000

“R‘c‘ﬂzrﬁanﬁﬂﬁuﬁ' maﬁm%"%m | 6,00,000
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-
3. |vF WRAT A A W @i /ﬂ’lﬂ
4.[2019-20 ¥ WaT ¥ A A R g F WA IWH, 24,000
5. |vwa I IR dew F we amx 2021- 22 6,00,000
o |ome wRa X sff few ww AR dew A W feRdr T 60,000

(3) WWQ,W-Wa&mzz—zaﬁmaﬁﬁmwmaﬁ@
Jm IR T W A TR A A AR
I | %0
I (AFE FAR D Q) - | 24,00,000
= Aqe e | | 2,00,000
TS Wt - 1 (B =) . : 4,00,000
aoE S - 11 (W@ FS aen) : — »_ (-) 6,50,000

(4) wafemT wo o m%mﬁma(m)%mm (i) @ WU @
wife@ '
fraffa REor ¥, T, SR T AR T (SR AR w=Y) @ s e e
I

™ o w (3) R (7)) | v (v)

I (AT AR D AE) ‘ 18,00,000 -- _

oI SR == 18,50,000 ;__

S — e _—

, ARl W IER ’1’200

P.T.O.
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3@

) fod @l 2021-22 w RE U

CIE
(62 uf) = F=faRae s A1 fufon ad 202293

¢ u}mm@muuﬁmﬁlﬂﬂﬁ‘\’:
- w
FoE WOd (SPE) 7,20,000“
e I wuT d@ S 4,000
¥& @ T@ T AN W S 60,600
R, TS 1,20,000
weEdl @ |dT (VI TY) 40,000

(6) Wm%mﬁmmﬁaﬁﬁaﬁwmﬁmﬁ‘rg“wn R
T F TR W iRy ¥ o v aeR wseda @ e @ i)

™ 70
T 20,00,000
‘maﬁmmﬁaﬂrmaﬁvﬁrmﬁm@ 12,00,000

E—

From the following i .
| i omAtion, compute total income of X for the assessment year 2022-2

3:
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— _ Rs. (per
Income Details
annum)
| e
o 12,00,000
Basic Salary
. .o 00,000
Dearness Allowance (50% is part of salary for all retirement purposcs) 2,00,

. 000
Education allowance for three children 201
Research allowance 20,000
Research shall complete in 2022-23
Amount spent in 2021-22: Rs. 16,000
Amount spent in 2022-23 (June)': Rs. 4,000
Rent-free furnished house in Delhi, owned by the employer 14,000
Furnishings provided by the Employer, owned by him, purchased in 2017-18
Gardener - 18.000
Overtime Payment

y 10,000
Personal Attendant wef 16th December, 2021
) 12,000
Free use of car (1800 cc) with Driver for personal and official use
wef 16th December, 2021, All expenses of the car are incurred by
the employer., A sum of Rs. 5,000 is recovered from X.
Employer contributes 14% towards to recognized Provident Fund of X
Interest on Provident fund at the rate of 9%
9,000

P.T.O.
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r///,' N
Interest on securities (net) | 18,000
—
Own contribution towards pProvident Fund 1,00,000
Li_f‘e insurance premium on own life 15—,0—0(7-
Suﬁl assured 1,0(70();_
Policy was taken in 2020-21 ]
Life- insurance premium on the liff_:' of daughter: paid on 15th June, 2022 5,0(;—
Purchase of NSCs in July, 2019 10,000
Accumulated interest in 2021-22 ~ 1,406

(10)

2 FelReE sl d, w-Fefor of 2022-23 @ o v o w5 s @ TR St

STRUAEE 2022-23 ¥ W By

I H faewer
' (v ad)
T Ao
- | 12,00,000
T (50% ' ‘
(50% @it ¥atgfey S @ R JoT = R ?) 2,00,000
T T @ B ﬁmr W
36,000
FTEUE S
20,000 -

2021- [ ' '
| 22%:313%%1?%13#3%1@@:16000‘6@

2022- SN |
e ) W S ot g w400 v
: 4,000

—_—
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o ’ - —
ﬁﬁﬂ%wﬁamﬁaﬂﬁmﬁﬂgwmgon—wﬁ 14,000
Rl R0 W B e el w0 @@

LIS 18,000
N AR 10,000
16 ﬁaat 2021 ¥ AR 12,000
16 RER, 2021 ¥ TREE R sERs Sww @ g FEN @

T ER (lsooﬁﬁr)mgqagmlwmmaéﬁaﬂmﬁm

e 21Dl R 5,060‘6‘1‘3@‘{[&[33@@.?!@%!

flE DI & W W WEw AR @ R 14% @ dwee e €
ARRews W 0% T W ¥ =W 9,000
el = = () 18,000
wRe Ry @ R w@d @ aeE 1,00,000
wd & oieT e AR 15,000
e f . ' ~1,00,000
2020-21ﬁé’rﬂ€?ﬁ1ﬁﬁ_~lﬁ.'

3 @ e W ohe A R 15 T, 2022 WO Ben @ 5,000
T, 2019 ¥ GACEE it W™ 10,000
2021- 22 ﬁ LR 1,406

P.T.O.
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Jrerdl
i alary.
(a) Explain the.provisions for taxing leave salary
2. (a

WWWG{{W%W'&%WW.

3)

(b) From the following information, compute total income of X for the assessment year 2027
r .

23:

Income

Rs. (per annum)

Basic salary

10,00,000

Dearness Allowance forming part of salary 1’00’000
House Rent Allowance 2,00,000
'R‘ent paid by X in Delhj - 1,50,000
Transfer of computer on 15th January,2022 30,000
Cost of computer to employer on 15th April, 2020 1,00,000
Employer’s éohtribution towards NI;S 1,50,000
Employee’s contribution towards -NPS 60,000
| Short-term- Capita] Gains on a1, of gold . .50,000
M 1,00,000
"Deposit in Publjc Provident Fund 30,000

v

7
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mmm@zozma%mmzﬁzﬁamﬁm :

s 5 (vfa =)
LSRR 10,00,000
FEME WA JqT @ Rww R 1,00,000
W S s=n 2,00,000
el ¥ T w0 swEw Reaw v fRwen 1,50,000
15 SFEQ, 2022 H HUE B SRR 30,000
15 30, 2020 & FEE =) m@ & A 1,00,000
Tdigg ¥ e & e 1,50,000
vieE & e S w1 aEE 60,000
A B AR W e Yo A 50,000
QIR X 5 W S o A 1,00,000
e s ffr F 30,000

X (61 years) submits the following information for the previous year 2021-22:

House 1 (self-occupied) | Rs. House II (let out for Business) Rs.
‘Fair rental value 4,00,000 Fair rental value 4,40,000
Municipal value 4,10,000 Municipal value 4.60.000
St;ndard rent 3,80,000 Standard rent 4,40,000
Municipal taxes paid H Municipal taxes paid 5,000

P.T.O.
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.\
r’——;ifl Annual rent 6,00,000
Anpnual rent
| I
Nil Unrealized rent 2 months
l Unrealized rent
e —
R . ¢ vacancy Nil Loss of vacancy I month
! oss ¢
| wsas 20,000 Repairs 30,000
‘ e —
l
,l Interest on borrowed capital | 240,000 Interest on borrowed - 3,00,000
| :
for purchase of house capital forpurchase of house

I
L

He earns long-term capital gains of Rs. 6,00,000 on sale of shares and deposits Rs,

1.20,000 in Public provident fund. He also pays medical insurance premium of Rs. 15,000

on his medical insurance policy in cash. Compute taxable income and tax liability of X

assuming that X is a non-resident(ignore section 1 ISBAC) (10)
(F) &= (61 =8) ftzd af 202122 & for e st wege s 2
FSE-1 (=9 & %= ) ¥ | FEE-1 (vmam & fw) T
= =
T = 4,00,000 | I formar. weg 4,40,000
410,000 | sRIerT e 4,60,000
\ _ 3,80,000 | wFE fammy 4,40,000
4,000 '
== TR W R @ e 5,000
Nil
’ ' 1 NI | i R 6,00,000
\\sm:ﬁam Nil
- N | s e 2 months
| 1 Nil
= \\‘ﬁﬁa & T 1 month
— ST v e 20,000 Rites 30,000
\_\ ]
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»

w W & e @ 2,40,000 o Y @ fg IUR
¢ RS L

“mmm“ﬁ“ﬁwaﬁhm%lﬂuﬁzﬁwm6,00,000“6@33Tm
@'m“ﬁmﬁfﬁﬁuzo,oomaam%ﬁf&ﬂﬁmﬁmmWﬁm
%'Wﬁwmﬁmﬁmqmsmmwﬁ@ﬁxwm% S
115BAC = mﬁ)xﬁwmm@zwmﬁmﬁl

OR
RIDE

3. (a) Can a person be chargeable to tax under the head” Income from House Propeyty“‘ if he

is not the legal owner of the house property? (3)

waﬁimﬁﬁqgm%mﬁdﬁ%MW%ﬁa@ﬁﬂém%aﬁ
aaqaﬁwﬁ-rmmﬁwﬁwﬁ%?

(b) X owns a property meant for self-occupation. Its fair rental value is Rs. 3,00,000 and
municipal value is Rs. 2,40,000. He pays municipal taxés of Rs. 10,000 during the year.
He took a loan of Rs.18,00,000 for construction of this house @10% on Istlanuary 20135,
The construction was completed on 3 IstDecember 2017, He repaid the loan on 31stMarch
2022. His income from business is Rs. 3,00,000 p.a. and long-term capital loss on sale of
silver is Rs. 50,000. He carns short-term capital on sale of shares worth Rs. 4,30,000.

Compute his total income and tax liability for the assessment year 2022-23(ignore section

115BAC). , (7)

m@;maﬂmﬁﬁ%@w'mm%ﬁw%lméﬁmﬁﬁmw@3,00,000

@ s R 2,40,000 T Bl g5 o & IR 10,000 WA D TR
ﬂmwmﬁnw—?‘mmﬂ'ﬁzmsaﬁ 10% & ® A W W D O
ferg 18,00,000 T w0 A form Frfor @ 31 R 2007 W W g e 3

P.T.O.
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ﬁzo?zﬁmmlwamma,oo,ooomuﬁaﬁ%sﬁzafaaa
&2 = a4 m@gﬁso,ooowbélaa4,30,0006@%%&%;%&4;

: ﬁmmeuaﬂmaﬁ 2022‘23%ﬁ?m§8m3ﬂ2m
o WEr AR (T SRR B )

From the following details furnished by X for the previous year 2021-22, compute his

taxable income and tax liability for the assessment year 2022-23 (ignore section ] I5BAC):

Income » Rs.
Salary (after standard de‘du.c»tion) ' ' 24,00,000
House property (computed) - ‘ | | | 6,00,000
Long-term Capital Gains (Gold) . 1,00,000
Short-term capital Gains (Sha‘res) A - 70,000
Winnings (Net) R | B 1,40,000
- Savings Bank interest : ' 40,000
Income from Royalty | B 1,00,000
Contribution towards public provident fund ~ | 1,40,000
Purchase ofANSCs (VII) Issye 20,000
Mec‘li‘cal insurance Premium paid op own life 26,000
! 'reatment of depmcr Suffering from 60% disability 15,000
e ———
Donation to Prime Minister’g National Relief Fung (cheque) 1,00,000
D('mathn ‘ approved Public charitable institution - 2,10,000




(10)

- fiow af 2021-22 %ﬁq v B e PR e &, F af 2022-23 &

'mmmmmmmaﬁaﬁmm(m“mﬁmm):

N | I
e | T
I (AR BN K AR) PRI 24,00,000
B3™ mﬁ (qafer) R 6,00,000
e qﬁnmw (ez) - 100,000
FeqFlioren  goad o (IW) - | | 70,000
a9 @ (RR) () R . ~ 1,40,000
maﬁm R R - | 40,000
ot ¥ IE | o - | ~1,00,000

| -aﬁvrﬁ?ﬁ wisr @R & ﬁma'r;r | | | | ,i,40,ooo

| ged (VID: ¥ . | ‘ 20,000
W%WWWWWWWW, | | 26,000
0% Traeiner A g S @ w1 ff Sww 15,000
g T qed wE X (55%) | 1,00,000
FERa mﬁm""f . | 2,10,000
e

P.T.O.
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OR

reran

4. (a) Explain the provision of section 43B in respect of deduc_tion on account of hnpaid liabilities

Name any two €Xpenses covered under section 43B.

3)

a&aﬁﬁmﬁ&f%wmﬁ?ﬁ%mﬁmmﬁﬁmaﬁm@ﬁﬁmm
438 @ Side g A R S wE @ oAw fRa

(b) X provides the following details for the previous year 2021_22':

AResidential Gold (Rs.)
House |
Property (Rs.)
Sale Considc‘:ration. Sth February, 2022 90,00,000 15tﬁ‘February, 2022 30,00,000
Cost of Acquisit‘ion 15th March, 2004 15,00,000 12thJuly 2000 8,00,000
; F;qir market Va}ﬁe 6,00,000
as on 1st April, 2001
E)fpenses on transfer 20,000

20,000

H .
€ purchases the fqllowmg assets during the previous year:
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B D Amount
atc
i 5 Bropene T 00
Residential House Property 15th August, 2022 12,00,0
deemablo o 000
NHAI Bonds (redecemable o 30th July 2028) I5th March, 2022 60,00,

i f income
He deposits Rs. 50,000 in Public Provident Fund. Due date of furnishing return of in

for the
for the assessment year 2022-23 is 3]st July 2022. Compute his net income 0
assessment year 2022-23.

Wﬁ@%ﬁzom—zz%ﬁvﬁw%ﬁaaﬁammm‘&

A B e (%0)

TR (R0)
R W R ‘5 W, 2022 | 9000000 | 15 WeE®, 2022 | 30,00,000
T —- 15,00,000 12 FEE 2000 8,00,000

1 3, 2001 = 6,00,000
EIRCCIE

TWFAET ® @ 20,000 20,000

aR @ afew IR A W WO WO R w3 W ow R

e T
. 15 , 2
o W | T, 2022 12,00,000
. T 2028 w 15 91, 2022 60,00,000
vegauaTEse (30 ‘

P.T.O.




281

a5 fow T

5. From the fo

total inc

Profit and Loss Account for the ye

18

%ﬂtﬁﬁﬁiﬁ{mqﬁﬂqﬁﬂTfﬁmﬂmﬂzagMﬁfﬁmmqim

m;ﬁﬁmmw%ﬂmﬁm%lm?ﬁmm
g7 AT & vow v afad@ 2 (aw nsim

llowing information furnished by X

ome for the assessment year 2022-23:

ar ending 31st March 2022:

for the previous year 2021-22, compute his

employees’ Recognised

Provident Fund

Particulars Rs. Particulars - Rs.

Purchases 1,80,000 Gross TurnoVer 10,00,000

Office expenses 45000 | Bad Debts recovered 6,000
(earlier aliowed as dgduction)

{\udit fees 10,000 ‘Custom duty recovered 4,000
(earlier not allowed as deduction)

Household expenses 3,000 Gift from friends 12,000

Depreciation on Plant and 34,000 ‘Givft from Parents 25,000

‘Machinery

Contribution towards. 1,00,000 Interest on securities 5,000
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Bonus to staff 20,000 Income tax refund 2000
Income Tax 40’0‘00
Donations to national 2,000
Defence Fund
Life Insurance premium 20,000
on his own life
Capital éxpenditure on 25,000
»scientiﬁc research -
Provision for Bad debts 12,000
Net profit ' ' 3,28,000
10,54,000 10,54,000

Additional information:
(

Depreciation on plant and machinery as per income tax provisions is Rs. 36,000.

Bonus to staff is paid as follows:

Rs. 10,000 on 5th October; 2021
Rs. 5,000 on 30th July, 2022

Rs. 5,000 on 1st August, 2022

Due date of furnishing return of income is 31st July, 2022

Audit fees is paid through bearer cheque:

Incofne tax refund includes Rs. 500 as interest on tax refund. -

P.T.O.
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A TRRCHE < ¥ 50,000 TR T B B IR T 2022-23 F Ry amrw e
qg ' ! .
e @ P R 31 9, 2022 Bl e q§ 2022-23 & W Iaeh @ s

) WA SNl

P . T faEo %0
- : 1,30,060 o HRER 10,00,000
sithE &1 @ 45,000 | WO WU GG (TEX wer 6,000

@ WA g ® T @)

e e T 10000 | € wew wEem T (v wAR| 4,000

® WA Al S o)

R w ‘ 3,000 | @il ¥ ITER 12,000
W AR T W g?asm | 34,000 | WiaT-fiar ¥ SR l- 25,000
FATRA D A W He 1,00,000 nﬁﬁﬂﬁﬁr R 5,000
R & fo dewes

ARG S 2vo,o'00 TR R 2,000
b 40,000

T @ Y e 2,000

W%Gﬁa?wﬁaqﬁmﬁmqq

- 20,000
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!/————-"""\————/’/1
3 R i 25,000 I
W F & R e 12,000
i /
— I
e T 328,000 .
10,54 ,000
10,54,000 D 2
| — I—
sfRea SHEN:
I

‘-WW%WRW@IWWW 36,000 TR S T 21
2.$ﬁmﬁaﬁﬁwm§mﬂﬁw@m‘mm%
5 aCE, 2021 = 1o,oo-ov
30 rg"mé 2022 & ¥ 5,000
1 FWr, 2022 6T 5,000
mﬁmﬁq@wﬁaﬁ%ﬂﬁﬁmw,zozz%
3, ﬁr@é‘ﬁawlwﬁw%%wamm%l
4..€mﬁm«m%@ﬁmmﬁ5°°mm%l ]

| 5 9 o e fafr & 25,00.0 T A ¥ R

OR

3rrdl

5. Xand Y are equal partners of XY Co., a firm. Profit and loss account of the firm for the
) a ]

. I follows: .
year ending 2021-2218 85 P.T.O.
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// ——_’;{fs Particulars Rs.
Cost of goods sold _EL‘)(”OOO Slles 80,00,000
7/;1’_/2 50,000 Other business receipts 60,000
Deprecia
—7Bonus'and commission to staff 7,00,000 Long-term capital gains 80,000
e Other -expenses 1,00,000
Interest on capital to partners
@24%
X ’ 18,000
% | 24,000
Remuneration to partners
X 3,00,000
L 2,00,000
Net profit‘ 17.48.000
2l 000 81,40,000

Additional information:
() The firm satisfies all conditions of sections 184 and 40(b).

(1) Salary and interest are paid as per the partnership deed.

(i) Depreciation as per income Tax Act is Rs. 48.000

(iv) Other expe i '
penses include Rs. 20,000 which are not deductible under sections 30 to 37.

W) Tnc i
(V) Income and investment of partners are as follows:
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_____——————*T‘""’“’"——‘7

r’—l;rliculars ] X Y

(Rs.) (Rs.)

" Dividends from Indian company ‘_/M—_______?_(_)_O_O_O____—
Dividends from foreign company 20,000 12,000
Interest on company deposits — | 1,20,000 1,24,000
Interest on savings bank with post office 2,000 1,200
Deposit in public provident fund | 1,10,000 1,40,000
Indira vikas patra 20,000 10,000

Compute net income of the firm and partners for the assessment ycar 2022-23.

Waﬁ?mf,wmﬁﬁl,ﬁw%ﬂn‘hm%l

m@aﬁ%mﬁmwsﬁtmﬁm%m%

(10)

af 2021- 229 GO B

farmon © Rs | T Rs.
3 M AW A A 50,00000 | Tt 80,00,000
T ' 50,000 | I SHEAdh Wit 60,000
i @ A ot I | 700000 | e e 80,000
s @ | 100,000

mamffaﬁrgﬁrqzm%aﬁ

W q Nl
s 18,000
31§ ‘ 24,000

P.T.O.
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LW e 84 SR 40(F) W T @ [ @ e

2.m€arﬁlqﬁga}a§ﬂnéa#aﬁrmwwmm'%l

3. ma&ﬁuﬂ%aﬂwwasooom%l
4. maﬁ%zoooomﬁmﬁa%ﬁrmao%37a‘umﬁﬁtﬁm=ﬁ‘§l

5.mﬁaﬁaﬁmaﬁzﬁ%mga—m%\

281 _
|
WeR &t qiksafien |
3,00,000 |
v |
ars 2,00,000 !

g€ @ 17,48,000
81,40,000 81,40,000

JfaRaa S

T — v (%0) Y(Rs.) |
YRAT T A A 40,000 30,000
faedt o A o 20',000 12,000
. WA WO _ ~1,20,000 1,24,000
W ke & wa T ¥ W 2,000 1,200
aaate ufaw By ¥ e 1,10,000 1,40,000
geu faem. 20,000 10,000

w-ﬁuﬁwa&zom—za%ﬁqwﬁaﬂ?mﬂeﬁaﬁq&mﬁmaﬁml

(12,00
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408A

1 | (a) Explain the term 'Investment'. What are the objectives of investment? Explain in detail.

‘R’ m’ﬁmﬂ?"@'q'ﬁaﬂ%mﬂmﬁ?ﬁm%mml

 (b) What-do you mean by Risk Return Trade Off? Do high risky investments always

provide higher retums?

-

ﬁ@ﬁaﬁaem%mwamﬁ%? wwsﬁﬁqqmﬁ%mzimrﬁm
yer w27 e ' o (s+7)
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(a) Mr.X purchased a share at Rs'lOO five 'y‘ears ago. ‘The market price’at the end of each

year and dividend for the year are given below Calculate average rate of return and

risk of the securlty

Year . ‘_Div'idend (Rs.) . Market Price(Rs.)
1, ' 4 S - 110
2 6 115
3 5 " 125
L) » :
4 5 140




408A g

4 156
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(b) Define Risk. Exp'lain the different types of risk in_ an investment with suitable examples.

(8+7')

mﬁmﬁmmlmﬁmﬁm%mﬁm
qféamm

-

2.0 "Stock exchangcs provide the linkage between the savings in the household sector and the

e corporate sector". Explain the statement. Also explain various roles

mvestments in th
n India. ) | (15)

pcrformed by Stock exchanges i

ﬂﬁf%aﬁ%ﬂ%‘tﬂﬂmmm%nlmwﬁ
3 < @@ﬁmmﬁﬂﬁﬁwwahaﬁwﬁ .
' ' P.T.O.
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sterar

. : . . . E ‘7
(a). What are the various sources of financial information?

fAele g @ R AW @ 37
(b) What are 'Option cbnfracts’? How a call. option is different from put option? Explairi '
* with the help of an example. = e N (7+8)

‘AT ey’ w87 @ anqu‘ga anuna'ii‘€¥§ ST 7 U TR A W
¥ WS

3. Whatis fundamental analySIS‘? Explam EIC approach

(15)

~ .

vafies R T 27 fﬁmﬁﬁ Eﬁkﬂﬁ"l‘dﬁ T R

v

OR

(@) The re_l/ei/ant financial data fo

. Fan automob11 biles Ltd. as on
March end 203 and 2022 i € company ABC Automo 1'

given below,



5
. =
(in Lakhs)

Particulars i | ~262 1 2022

A Net Sales | 2500 4000

B Less: Cost of-Good's' sold I 1800 2500

C Gross Profit(A-B) ‘ - 700 - 1500
Less: Administyéti;ze - 100 150

and Selling expenses |

D-- Operating Income | | v E ~ 600 1350
Add: pther incognes N o | 60 ‘ - 120

'E_ | EBIT - . ‘ 660 - | 1470
| I:,ess:'lx;terest | S . | 150 A 300

F. Proﬁtbefore iax ‘ | - 510 117(;
| Less: Tzlix. @40% A 204 468
G Profit after Tax | o .'306 702
H Dividend distribUted- o o | | 120 150
I Retaineci Earnings | 186 552
Share Capital - g =" ‘ 400 400

o | Net Assets | 1070 1800

|

P.T.0O.
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408A

r share was Rs.25 and Rs.40 in the year 2021 apd"2022 respectively. |

The market price p¢ . . . )
ach. Using the information given, calculate following ratios

Face value of share is Rs.10 €

to perform company analysis:

™

i) EPS

() DPS

G) PERaio - .
- @) Book value per share.

ard 2021 3K 2022 D Fa A & aﬁﬁmm Qﬁ%ﬂa‘@ﬁm ﬁiﬁé@ & R

o
Particulars s I I .
: , . ] o 2021 2022
A | o R S, O D
— C . 2500 4000
B | WW N W AR & wmg ' ) '
e _ .t | 1800 2500
- il 700 1500
W WRERE 3R fiwg w@ | ~
' = © 100 150
D | wRaem sma
| 600 1350
I 60 120
— 660 . 1470
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Herg: 28 40 % . ‘204/ 468
G I IEEER D W A : | ' 3(;6 | 702
H faafta @i '. | ) 120 150
I mﬁ?rmé | | 186 " 552
R CL AT R 400
Te dua - | w0 1800
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(i)v £
) B
i) 9 T
(iv) W ’3'“‘ T 4G
(b) Explam the varlous pitfalls to avoid while lnvestmg | '_ SEB (4 8+7)
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sis? How is it different from Fundamental _analysis? Explain vario
. v , ious

What is Téchni_cal Analy
' o P.T.O.
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| ical analysis to‘ptedlct future p . o
types of charts used by techn
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w31 MWW Wmﬁﬁaﬁﬁmm$aﬂﬁ l["";
@ g T Az 31 | 4
OR
eat
. ~1 Fund is an indireci investment". Explam What are the advantages of investing in
"Mutual Fund i
(15 |
mutual funds? Explam the dlfferent types of mutual fund schemes . | o )

- 3.

"uggaatﬁ?@mﬂﬂﬁam%
mﬁ@mﬁﬁmﬁaﬁmaﬁml

Write notes on any three:

(a) IPO

- (b) Market Participants

(c) Security market Indices

(d.) Féétérs affectipg choice of mutual funds
(e) Net Asset Value. ¥ |
'ﬁﬁﬁ%mrq;ﬁwﬁmﬁﬁﬁgm'

(a) et |

(b)aWM'mﬂﬁm f;

(c) SRvifer ST gt | .
(d)ﬂﬁﬁﬁiwm'%tqaaiﬁ'wmﬁm-mﬁtqﬁ;awuﬁ

o ;,(e) ¥ Re A

”nma‘ﬂﬁr\’ltﬁmm%ﬁ%mmﬁ%wm%? =

1
z

(5+5+5) |
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